
ydx − dy∫

:
x = t

y =1 − 2t
 
 
 

   
dx = dt

dy = −2dt
 
 
 

   t : 0 → 1    

9.2.
a)

:  r = (0,1) + t (1, −1) − (0,1){ } = (t,1 − 2t)   t : 0 → 1    

ydx − dy∫ = (1− 2t) ⋅1− (−2){ }dt
t =0

1

∫ = (3 − 2t)dt
t = 0

1

∫ = 3 −1 = 2



b)

= 1 ∪ 2  

1 :
x = t

y = 1
 
 
 

   
dx = dt

dy = 0
 
 
 

   t : 0 → 1    

2 :
x =1

y = t
 
 
 

   
dx = 0

dy = dt
 
 
 

   t : 1→ −1    



SVAR:

ydx − dy∫ = ydx − dy
1

∫ + ydx − dy
2

∫
ydx − dy∫ = 1 ⋅1 − 0){ }dt

t =0

1

∫ + (t ⋅ 0 −1)dt
t =1

−1

∫

ydx − dy∫ = 1− (−2) = 3

Linjeintegralen är lika med a) 2  b) 3.


